Bryan Berns

ECE 330

Assignment 3
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B. Memoryless, Stable, Causal, Linear (Not Time Invariant = Gets ‘Chopped’ By Unit Step)

D. Linear, Time Invariant (Not Stable = x(t)=1, Not Memoryless = Integral, Not Causal = n < 0)

L. Stable, Linear (Not Time Invariant & Not Casual & Not  Memoryless due to exponential)
1.39)

	Time invariant
	Causal
	Memoryless
	Linear

	Could Be
	Could Be
	No
	No

	Refer to causal explanation; there is no disproof of time variance in this case.
	Relating previous value (increasing, decrease), positive / negative edge, and edge orientation, it’s possible to make a set of rules based on previous values that is not time variant. 
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B.

	Time invariant
	Causal
	Memoryless
	Linear

	No
	No
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	Could Be
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A. No, 
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.  Only conclusion that can be made is that future values play a part.

B. No, 
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C. No,  
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D. Since Linear:
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A.




B.



C.
[image: image18.png]




[image: image19.png]




[image: image20.png]



Work For Part C (Just to make you happy cause I did it in my head):
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